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Note: Candidates are required to give their answers in their own words as far as practicable.  Marks allotted to each

question are indicated against it.

[Part-1 (English)]

Q.1 Read the passage given below and answer the questions that follows: (5)

Valli devoured everything with her eyes. But when she started to look outside, she found her view cut off by a canvas

blind that covered the lower part of her window. So she stood up on the seat and peered over the blind.“The bus was

now going along the bank of a canal. The road was very narrow. On one side there was the canal and, beyond it, palm

trees, grassland, distant mountains, and the blue, blue sky. On the other side was a deep ditch and then acres and acres

of green fields – green, green, green, as far as the eye could see. Oh, it was all so wonderful!

(A) Find in the passage the antonym of the word ‘wide’.

(B) How was the road?

(C) What was seen by Valli beyond the canal?

(D) What do you mean by ‘distant mountains’?

(E) What was all so wonderful ?

Q.2 Do as directed: (5)

(A) Ravi says to Sita, “I am a good player of cricket”. (Change the narration)

(B) Peon rings the bell. (Change the voice)

(C) He is going to Delhi. (Change into Present Indefinite Tense)

(D) I _ drive a car. (Fill in the blank with suitable modal)

(E) Sun rises _ the east. (Fill in the blank with suitable preposition)

Q.3 Write a short paragraph on any one of the following (in about 60 to 80 words): (5)

1. A visit to a fair

2. My classroom

3. Diwali

[Part-2 (Maths)]

Note : All questions are compulsory.

Q.1 Write additive inverse of 
8

2
. (1)

Q.2 Multiply 
13

6
by the reciprocal of 

16

7
. (3)

Q.3 Find the value of 17 + 6p = 9. (2)

Q.4 Find square root using prime factorisation of 8100. (3)

Q.5 Simplify: (a2 – b2)2. (3)

Q.6 The diagonals of a rhombus are 7.5 cm and 12 cm. Find its area. (3)
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[Part-3 (Science)]

Q.1 The process of depositing a layer of any desired metal on another material by means of electricity is known

as __________. (1)

Q.2 Give two examples of situations in which force applied causes a change in shape of object. (1)

Q.3 Which zone of a flame does a goldsmith use for melting gold and silver? (1)

Q.4 Name the process by which tadpole develops into adult frog. (1)

Q.5 Define asexual reproductin. (1)

Q.6 State laws of reflection. (1)

Q.7 Give difference between internal fertilisation  and external fertilisation. (2)

Q.8 a) Name the unit in which calorific value of a fuel is expressed.

b) Draw a labelled sketch of human eye. (3)

Q.9 A pendulum oscillates 40 times in 4 seconds. Find its time period and frequency. (2)

Q.10 a) Does pure water conduct electricity. If no, what can be do to make it conducting?

b) Define pressure.      (1+1=2)

[Part-4 (Hindi)]

ç'u 1 fuEufyf[kr x|ka'k dks i<+dj cgqfodYih; ç'uksa ds mÙkj fyf[k,A ¼5½

Hkkjr ,d Ñf"k ç/kku ns'k gS] tgk¡ dh vf/kdka'k tula[;k Ñf"k ij fuHkZj gSA ;gk¡ ds fdlkuksa dk thou dfBu vkSj la?k"kZiw.kZ gksrk
gSA os fnu&jkr esgur djrs gSa] ijarq dbZ ckj mUgsa viuh mit dk mfpr ewY; ugha fey ikrkA vkt Hkh gekjs ns'k esa fdlkuksa ds ikl
vk/kqfud lk/kuksa dk vHkko gSA [ksrh ds fy, i;kZIr flapkbZ dh O;oLFkk u gksus ds dkj.k Qlysa [kjkc gks tkrh gSaA ljdkj le;&le;
ij fdlkuksa dh fLFkfr lq/kkjus ds fy, dbZ ;kstuk,¡ ykrh gS] ijarq os lHkh ;kstuk,¡ mu rd iwjh rjg igq¡p ugha ikrh gSaA fdlkuksa
dh gkyr lq/kkjus ds fy, vko';d gS fd mUgsa lHkh çdkj dh lqfo/kk,¡ feysa rkfd os csgrj Qly mxk ldsa vkSj ns'k dh vkfFkZd
fLFkfr dks l'kä cuk ldsaA

1 - Hkkjr dSlk ns'k gS\

¼d½ vkS|ksfxd ns'k ¼[k½ O;kikfjd ns'k ¼x½ Ñf"k ç/kku ns'k ¼?k½ i;ZVu ç/kku ns'k

2 - Hkkjr esa fdlkuksa dk thou dSlk gksrk gS\

¼d½ ljy ¼[k½ dfBu vkSj la?k"kZiw.kZ ¼x½ foykflrkiw.kZ ¼?k½ vkjkenk;d

3 - fdlkuksa dks fdl pht dh deh dk lkeuk djuk iM+rk gS\

¼d½ vk/kqfud lk/kuksa dk ¼[k½ Je dk ¼x½ f'k{kk dk ¼?k½ Qly dk

4 - fdl dkj.k ls Qlysa [kjkc gks tkrh gSa\

¼d½ vf/kd Je ds dkj.k ¼[k½ vf/kd [kkn ds dkj.k

¼x½ flapkbZ dh mfpr O;oLFkk u gksus ds dkj.k ¼?k½ vk/kqfud lk/kuksa dh vf/kdrk ds dkj.k

5 - fdlkuksa dh fLFkfr lq/kkjus ds fy, ljdkj D;k djrh gS\

¼d½ mUgsa f'k{kk nsrh gS ¼[k½ ;kstuk,¡ cukrh gS ¼x½ fons'kh enn ysrh gS ¼?k½ mUgsa vkjke nsrh gS

ç'u 2 fuEufyf[kr fo"k;ksa esa ls fdlh ,d fo"k; ij fn, x, ladsr fcanqvksa ds vk/kkj ij ¼80&100½ 'kCnksa esa
vuqPNsn fy[ksa& ¼5 ½

le; dk lnqi;ksx&  le; lhfer gS] vewY; /ku] lq[kksa dh çkfIr] vkyL; dk R;kxA

n'kgjk& n'kgjk dc euk;k tkrk gS] eukus dk dkj.k] >kafd;ka] cqjkbZ ij vPNkbZ dh fot; A

ç'u 3 fuEufyf[kr ç'uksa ds funsZ'kkuqlkj mÙkj nhft,& ¼5½

1- jke fo|ky; tkrk gSA ¼laKk 'kCn NkafV,½^

2- og esjh NksVh cgu gSA ¼loZuke 'kCn crk,a½

3- vkblØhe cgqr BaMh gksrh gSA ¼fo'ks"k.k 'kCn crk,a½

4- eksgu [ksy jgk gSA  ¼fØ;k Hksn fy[ksa½

5- fo|kFkhZ* 'kCn dk laf/k& foPNsn djsaA


